T
=3
N

A

=X Rk

PR BRI R BER
Y T e - R T

v w105 & %
e

S

HEHFFEGLEL PP ERIFER o

’5@,?’;’: z‘l::}’
“i%'ﬁ}@%&#? e L p P)‘#EE

h - iR 2R AF

P B

105 # %= FRF WP 24 518 2RITAR BT %
#E 5 1508561 A x4 > @A RAE0TE A HEE{FHT >R
FEE S FHIRREARNET FHT 2 hELE -

105 &% - FRPERFERER™ HTREEAF R F
ORI P TR % %

TR % B fRig 5

% 0.07~0. 9 pica * /-] p=

AT E R R R E F AR
(5 Mcd * /1 PF) -

% P
N Fois

P 1.05x107 B 5/
23R (BAE)e

#-131 : 1. 05x10° & 5/
A ar (fAE)e

LBHRBEF A ERG -

R

w-131:56.7T B /23 =

<

&P R KR /|- >+ AMDA
EORE 2K ¢]»»> AMDA
5 RE 3R /] %> AMDA
AMDA ¢ ¥ X B MV RlE




